GENUINE ACCESSORIES

G OBI Intelligent Designs 2000 Corp.

Denver, Colorado 80211
RALKS wuw. GOBIRACKS.com

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

Installation Instructions for GOEI TOVOTA FIFULL SIZERACK |  rarawo. OTFIFGR SHEET ] oF 8§




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Inclhuded in kit

Letter Description Location Cuantity
A GOBI TOVOTA FI FULL BIZE ROOF BEACE Main box 1
B FAIRINGEUIBBER FEOTECTIVE STERIF pre-asserhled 1
C FAIRING banded to rack 1
I FAIRING BERACKETS (pre-asserbled to fairing) pre-asserhled =
FAIRING BRACKET HARDWARD
F CONTENTS:  3.1/420x] Button head screw 33 BAG #2 1
fi- 1/4" Black Nylon washer Hardwrare Box

3- 17420 Mut 33

F GOBI BUPPORET BRACEETS Hardwrare Box £

GOBI FOOF MOUNT BRACEET HARTDWAERE

CONTENTS:  é- Cover plates black powder coated
13- Flat double hole Eubber gasket
G 12- 172" Mylon spacer washgers Hﬁiﬁgnx 1
12- WIE x40 Mounting screws 55
12- 316" Btamnless lock washers
12- 316" Stainless water proof washer
1- M-5 D etric allen wrench

FOBI RACKE BERACKET HART'WARE

CONTENTS: 12-3/2"-16x 1" 35 Hex Bolt BAG #4

H 24 372" Flat washers Hardwrare Box 1

12- 35" Wylock it
- Bubber pads black

ML
e
T
SRR

f"/ e
2 'l.l:: iz ‘/;/
= ‘::& %’
7
5

BAG#2 BAGH3I BAGH

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET 2 oF 8




GENUINE ACCESSORIES

G OBI Intellizent Degigns 2000 Coxp.
Denver, Colorado 80211

RACHS wuw. GOBIRACKS.com

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

The rack must be inspectfed before each vise fo mahs cerfay difackmerts are secide, and for evideree of
Werr. IMsuse of fhe rackor falure fo observe the masfoche s s ivsiruefions as fo istallaficy, nropar
Affactonertt and magrferepye will void app werradies fhet may be implied by law.

IMETALLATION INETRUCTIONS:

6.

U st the har darare list anpage 2 of the G ok instruction g de check and werifiy that all har darare 15 presernt prior
to 1nstallati on.

Eead all instrachiong carefully pricr to installabion

Eefer to page 5 Fig. 1 push on access cover plate A7 in the direction of the arrow while lifhing the access cover
plate with a small screwdnver. Femowe all 6 cover plates inthe same manner.

Refer to page 5 Fig 2 remove all 12 serews "B, Whenloosermung screws “B7 switches from one screw to the
other until both screws are finally removwed from each mownting point DO NOT REMOVE ONE SCREF AT
A TIME AS THIS MAY TWIST, CRACK OR DISLODGE THE THIN WHITE NFLONWATER PROOF
SEAL FNUTPLATE (C2) PROTRUDING OU'T FROM THE ROOF TOPAS SHOWN ON PAGE S FIG. 2
“CITAND PAGE 6 FIG, 34 “C27.  Apply the same screw extraction method if you are removing the originally
installed factory roof rack.

Eefer to page 5 Fig 2 andremove cover plate bracket™C17 from roof top by pulling up in the directions of the
atrows atd dislodgng the bracket from the swface of the veliude.  The bracket isheld in place by a thun layer of
clear double back tape simply pull up andremove.  Apply the same procedure to the remattung brackets then
clean the suface of the veldicle under each removed bracket and around each white nylon water proof seal “C47
with denatured aleohol as showninFig 3. An actual image of bracket “C17 13 shown on page 6 Fig Sa prioe to
remmoval you can see the myplon water proof tube shown as “C27. Fig 5 illustrates bracket “C17 correctly
removed from the wehicle.

Eefer to page 5 Fig 3 place one black mibber gasket (1) locatedin Bag #3 ower and around each white nylon
water proof tubefroat plate “C27 as shownin Fig 3 make certainto press down on the rubber gasket around each
nylon tube and to the sirface of the welucle to proade a good fit. Remowe bro 327 white nylon spacers from
Bag # and place them directly onto black rubber gasket (14) over and around each water proof tube “C27 as
showniinFig 3. Place another black rubber gasket (14 over the top of the two nylon spacers(15) followed by
cover plate (E) also locatedin Bag #3 as showninFig 3. Place a final rubber gasket (14) over cover plate (E).
Eefer to page 5 Fig. 4 use two M2 x 40 m etric screws located in har dwrare Bag #3 and slide each screw (9
through lock washer, water proof washer, Gobi support bracket 82 then through rubber gasket (14) cover plate (E)
atid all water proof sub assembly just installed below and finally into wehicle roof top water groof sylon tube S
plate (T, Threadin the M2 x 40 serews using the suppliedm etric Allen wrench located in Bag #3 suritclung
from one screw to the other while tightering to prevent the dislodgng or cracking of the water proof nyl on fube
atnd rat plate below., Smmg down screws only atthistime  “Allow for some brackef movemert ™ Eefer to page 7

for an actaal close up ew of a propefly installed Gokd support bracket assembly.  Install all rematring support
brackets inthe same manner.

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET 3 OoF 8§




GENUINE ACCESSORIES

G OBI Intellizent Degigns 2000 Coxp.
Denver, Colorado 80211

RACHS wuw. GOBIRACKS.com

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

The rack must be ingpected Before eachiuse fo malte corfam affackments are secire, aid for eviderre of
Wer. suse of the rackor falure fo observe e marfachrer s s fions &5 fo astallaficy proper
Affcipnent avd moavferrpre will void @y werrcaaties et may be implied By law.

IMETALLATION CONTINIED:

e

Refer to page 5 Fig. 4 using at least two people carefhdly place the G ot roofrack (110 in positbion on top of 4l 6
3 obi support brackets (8 as shown  Install all & mubber pads(10) located 10 Bag #4 between the Gol roof
rack’swelded mtabs (1 1la) andthe Gobi support brackets (21 as shown, Using the 3/5-16 x 17 hex bolts located
it Bag #4 alotug with a 387 flat washer install all 12 bolts and washers (1) thr ough the Gobi weldedin tabs (114)
thenthrouzh Gobi support bracket (2. Thread all 12 3787 rats and flat washerslocated inBag #4 to each bolt as
shown on page 5 Fig 4 (12) and stz down only at thistime,  Align each Gobi support bracket (27 to the roof
rack and the velicle as shown onpage % Fig 7 (H) and page 7 Figf. Once bracket dignment 1s completed fully
tighten each G obi support bracket to the roof top using only the Smm Allen wrench supplied to prevent over
tightering  Final support bracket installation shown onpage 7 Figf,  Contirue by fully tighterung the G ol
toof rack (117 to the support brackets as shown ot page 5 Fig 4.

Fefer to page 2 Fig. 7 () fairing; farnng comes pre-assembled with fairing brackets () attached  The posttion of
gach attached fairing bracket may not be fored at the proper heighd for your parbiodar roof line. A djustments
may have to be made in order for the faring to conform correctly to yow vehicle’sroofline.  Begn by attaching
the fairing's cernter tracket to the madde slot (3a) of the Gobi roof rack light bar (2 shownonpage 8 Fig 7.

1 ze the Stainless 347 budton head screws, flat black nylon washers and YW ndock ot spplied in Bag #2.

Proade approxunately 2 27 zap bebweenthe fairing and the G ol rack outer tube as showninFig 22 Tighten
dovwrn the center serew and ot at hustime.  Proceedto either the passenger or driver side and pull the faring in
the direction of the arrowsin Fig & letter (F) and () while pushing down on the fainnztowards the roof top at
the same time. FPull each side urdil fairing either makes contact with the Gobt roof rack or comesin cloge
proxumity.  Align fairing bracket () to the Gobi light bar fairing slots at the end of the Gob light bar (37 and
insett a Y7 button head screw and washer through fairing bracket () then through the G ol light bar slot and
secure the fainngin place with a 34" black nylon washer and nydoknat. Proceed to the opposite stde and
continne attaching the fairing in the same matmer.  Be sure that the fainng throughout its length ismaking
coftact with the roof top as stz as possible, fairing brackets may need to be adjusted either up or down and in
sotte cases you tmay bend the fairing bracket to accammodate the final result. Onee the fanng isin the proper
position tighten all fanngbrackets screws fimly,. Roofrack installation is complete.

Installation Instructions for GOEI TOVOTA FIFULL SIZERACK |  rarawo. OTFIFGR SHEET 4 oF §




G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

wuw. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

ﬁl -\_\_\_\_\_\_‘_‘—‘——\_
11 e T 12
\ s __;:._!%“-_._. : |
- ad - o |--\.|
lla e '

LEL oy h e Rl
LA LLA LA

3

Cleaty sutface of
all debris atid writh
detiatured alcaohol

Wehicle
Eoof Top

Fiz. 3

Fig. 2

———

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET & oF §




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

FIG. 5 BELOW SHOWS THE COMPLETE BERACKET C1 REMOVED FROM THE VEHICLE
ROOF TOP. FIG. SAPROVIDES A BETTERE VIEW OF BRACKET C1 PRIOR TO REMOVAL.
ONCE REMOVED DO NOT DISTUREE WHITE NYLON TUBES C2. CLEAN COMPLETE
SURFACE AREA AROUND NYLON TUBES C2 WITH DENATURED ALCOHOL

Remove bracket 1 and
| clean surface completely
| with denatured alcohol

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET @ OF §




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

BELOW ILLUSTRATES THE PROPER INSTALLALATION OF

THE GOBI FJ SUPPORT BRACKETS AND COVER PLATES
USING ALL GOBI SUPPLIED HARDWARE

SUPPORT BRACEET 48 S

SCREW #9,LOCK WASHER 1§
AND WATER PROOF WASHER |SSwaty

COVER PLATE (E) il

NO CONTACT ON
VEHICLE ROOF TOF

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTEIFSE SHEET 7 oF 8§




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET 8 oF §




	Gobi Toyota FJ Cruiser full size roof rack page 1
	Gobi Toyota FJ Cruiser full size roof rack page 2
	Gobi Toyota FJ Cruiser full size roof rack page 3
	Gobi Toyota FJ Cruiser full size roof rack page 4
	Gobi Toyota FJ Cruiser full size roof rack page 5
	Gobi Toyota FJ Cruiser full size roof rack page 6
	Gobi Toyota FJ Cruiser full size roof rack page 7
	Gobi Toyota FJ Cruiser full size roof rack page 8

